Surface Fit

W. Exinger

a:==2 b:=05 c:=15 n:= 103 f(x,y) = a-xb~yC

X := runif(n,1,100) Y := runif(n,1,100) Z = (f(X,Y)-runif(n,0.8,1.2))

2-10%]

1-10%

f,.(X,Y,2)

funtype(xy, p) == po.(xyo)pl.(xyl)pz

a 1 2.137

b | := multidfif augment(X,Y),Z,| 1 |,funtype|=| 0.497

c 1 1.488
—_

res(a,b,c) = (aLXb-YC - Z)

Given
a:=1 b=1 c=1
res(a,b,c) =0
a 2.137
b | := Minerr(a,b,c) = | 0.497
c 1.488
dummy "Coefficient"
- [ f't( t(l (X),1 (Y)) In(2) 1)<1> 0698459 & 2005
:= polyfitclaugment\In(X), In ,In(2), = a=e =2
POl J 0.5020804
c 1.4973033
(a b c)=(2.0054 0.50208 1.4973)
WE170715_SurfaceFit.xmcdz Seite 1von 1 15.07.2017




